
The product line can be split up into:

■ Chain guide componets
■ Product handing components
■ Frame support components
■ Supporting and leveling elements
■ Self-aligning bearings
■ Miscellaneous components Line control

4



H174 Cross Clamp 

H340 Cross Clamp 

H341 Clamp for Photocells or Sensors 

H339 T Clamp 

d Order Number

12 H174-12

14 H174-14

15 H174-15

16 H174-16

18 H174-18

20 H174-20

d B Order 
Number

12 10 H340-12

d B Order 
Number

12 10 H341-12

d B Order Number
12 10 H339-12

5



H587  Cross Clamp Round Hole 

H588  Cross Clamp Square Hole 

H518 Control Contact Lever 

H142 Support 
plate

6



H617 Plastic Adjustable Brackets 

H193 Plastic Adjustable Brackets 

H257 Plastic Adjustable Brackets 

H107 Plastic Adjustable Brackets 

d Order Number

12 H257-12

14 H257-14

16 H257-16

d Order Number

12 H107-12

d Order Number

16 H617-16

7



H175  Internal Teeth Five-star  Head Screws 

Order Number d D

H175-M5 M5 25

H175-M6 M6 32

H175-M8 M8 40

H175-M10 M10 50

H178 External Teeth Seven-star  Head Screws 

Order Number d D L I

H176-M5*25 M5 25 10、15、20、25 20

H176-M6*32 M6 32 10、20、25、30 23

H176-M8*40 M8 40 20、25、30、35、40 28

H176-M10*50 M10 50 25、30、35、40、50 33

H177 Internal Teeth Seven-star  Head Screws 

H176  External Teeth Five-star  Head Screws 

Order Number d D

H177-M6 M6 32

H177-M8 M8 40

H177-M10 M10 50

H177-M12 M12 63

Order Number d D L I

H178-M6*32 M6 32 10、20、25、30 23

H178-M8*40 M8 40 20、25、30、35、40 28

H178-M10*50 M10 50 25、30、35、40、50 33

H178-M12*63 M12 63 20、25、30、40、50 38

8



H182A Tightening Knob 

H183 Tightening Knob (with eyebolt) 

H185A Tightening Knob 

H185 Tightening Knob 

M Order Number

6 H182A-6

8 H182A-8

10 H182A-10

M L Order Number

6 8 H185A-6×8

6 14 H185A-6×14

8 10 H185A-8×10

8 16 H185A-8×16

10 12 H185A-10×12

10 18 H185A-10×18

M Order Number

10 H183-10

M L Order Number

10 12 H185-10×12

10 18 H185-10×18

12 14 H185-12×14

12 20 H185-12×20

9



 H255 Swivel Head

H181 Turning Joint  screw

d L Order Number

12 48 H256-48-12

14 48 H256-48-14

16 48 H256-48-16

10

 H256 Swivel Head

d Order Number

12 H255-12

14 H255-14

16 H255-16

Assembly of part.256
Applicable to brackets part:193、
107、257、617 （in combination 
with knob part183).

Assembly of part.255
Applicable to brackets part:193、
107、257、617



 H437  Square End Pipe Clamp

H159-12 The Round End Pipe Clamp

H82-12  Round Guide Rail Clamp

dg D Order Number

12 12 H82-12A

11



H210 Square Guide Rail Clamp

H66 Round Guide Rail Clamp

12



H71 Double Round Guide Rail Clamp

13

H71-2 Double Round Guide Rail Clamp

D Order Number

12 H71 - 12

16 H71 - 16

d Order Number

12 H71- 2  - 12

16 H71 --2 -  16

H213 Double  Guide Rail Clamp

d Order Number

12 H213  - 12

16 H213- 16



Plastic Assembled Brackets/Support Guides
(H183+H107+H71-1) 

Plastic Assembled Brackets/Support Guides
 (H183+H256+H193+H71-1) 

Plastic Assembled Brackets/Support Guides
(H183+H256+H193+H210) 

Plastic Assembled Brackets/Support Guides 
(H183+H107+H82-12) 

14



Plastic Assembled Brackets/Support Guides 
(H183+H256+H193+H82-12) 

Plastic Assembled Brackets/Support Guides 
(H183+H617+H71-2) 

Plastic Assembled Brackets/Support Guides 
(H183+H617+H71-1) 

15



H303 The Adjustable Handle

H302 Ratchet Handle Clamping

Code D
A B C L H Db De

mm mm Mm Mm Mm Mm Mm

303

M6 40 40 7 20 29 11 16

M8 55 51 9 25 36 14 20

M10 79 67 11 30 48 20 28

Code d
A B C E H Db De

mm mm mm mm mm mm mm

302

M6 40 40 7 12 29 11 16

M8 55 51 9 14 36 14 20

M10 79 67 11 20 48 20 28

16

Plastic Assembled Brackets/Support Guides(H183+H107+H71-2) 

Plastic Assembled Brackets/Support Guides
(H183+H256+H193+H71-2)



HJ0030-1  Shaft Sleeve
 Fixed for Square Hole 

HJ0030-2  Shaft Sleeve
 Fixed for Square Hole

Code Number DF(mm) H(mm) D(mm)

HJ0030-1 40*40 20 78

HJ0030-2
50*50 15 95

60*60 15 110

Material:PA Black,screw is stainless steel.

HJ0031  Shaft Sleeve Fixed for Round Hole

Code Number d(mm) D(mm) M(mm) H(mm)

HJ0031-20 20 40 M4 14

HJ0031-25 25 40 M4 14

HJ0031-30 30 45 M4 16

HJ0031-35 35 63.5 M5 16

HJ0031-40 40 68 M5 16

Material:PA Black,screw is stainless steel.

17



H567 End Transfer Module(with lip) 

H568 Centre Transfer Module 

H569 End Transfer Module 

18



H73 Roller

H126 Distance Gear

H125 Double roller

H556 Roller

d Order Number
12 H73-12
16 H73-16
18 H73-18
20 H73-20

d Order Number

12 H126-12

16 H126-16

18 H126-18
20 H126-20

d Order 
Number

16 H556-16
18 H556-18
20 H556-20

d Order Number

16 H125-12

18 H125-18

20 H125-20

19



H11 Roller

H388 Roller

H555 Guiding Flange for Part

H554 Roller

d L Order 
Number

20 82 H11-20*82

df Order Number

20 H388-20

df Order Number

20 H554-20

df Order Number

20 H555-20

20



H280 Bearing Head for Tubes 

H199 Side Mounting Top Bracket for Tubes 

H137 Connecting Joint for Tubes 

21

H198 Bearing Head for Tubes 

Df=48mm 



H615 Plastic Tripod for Round Tube

H618 Plastic Bipod Support Bases for Round Tube 

H619 Plastic Bipod Support Bases for Round Tube 

22

d standard size:48.0mm ;can cut to 50mm 

d standard size:48.0mm ;can cut to 50mm 

d standard size:48.0mm ;can cut to 50mm 



H180 Expansion Plug for Round Tubes 

H224 Expansion Plug for Square Tubes 

Order 
Number Diam Tubing 

outer dia Thickness load-
bearing Weight

H224-40-16 M16 □ 40 1.5 700 0.670

H224-50-16 M16
□ 50 2.0 1000

0.105

H224-50-20 M20 0.112

Order Number Diam Tubing 
outer dia Thickness load-

bearing Weight

H180-32-16 M16 ○32
2.0 1000

0.082

H180-50-16 M16 0.091○50

23



Bearing Block Series

HJ0100 Plastic Square Bearing Block

Order Number d mm L mm J mm K mm A mm D mm B mm S mm P mm

HJ0100-204 20 86 63.5 13.4 27.8 11 31 12.7 16.3

HJ0100-205 25 95 70 14.3 28.5 11 34 14.3 17

HJ0100-206 30 107 83 14.3 31.5 11 38.1 15.9 19

HJ0100-207 35 118 92 15.5 34.5 13 42.9 17.5 21.5

HJ0100-208 40 130 102 17 36.5 14 49.2 19 23

Material:PBT  
Color:black 、White、 Green

HJ0101 Plastic Rhombus Bearing Block

Order Number d mm H mm J mm L mm K mm A mm D mm B mm S mm P mm

HJ0101-204 20 113 90 65 13.4 26.5 11 31 12.7 15

HJ0101-205 25 131 99 70 14.3 28 11 34 14.3 16.5

HJ0101-206 30 147 117 80 14.3 30.5 11 38.1 15.9 18

HJ0101-207 35 164 130 90 15.5 32 13 42.9 17.5 19

HJ0101-208 40 178 144 100 17 35 14 49.2 19 21.5

Material:PBT  
Color:black 、White、 Green

24



HJ0102 Stainless Steel Square Bearing Block

Order Number d mm L mm J mm K mm A mm D mm B mm S mm P mm

HJ0102-204 20 86 64 11 25.5 12 31 12.7 15

HJ0102-205 25 95 70 13 27 12 34 14.3 16

HJ010--206 30 108 83 13 31 12 38.1 15.9 18

HJ0102-207 35 117 92 15 34 14 42.9 17.5 19

HJ0102-208 40 130 102 15 36 16 49.2 19 21

Material: Austenitic Stainless Steel 、
Cast Iron、Zinc Aluminum Alloy

HJ0103 Stainless Steel Rhombus Bearing Block

Order Number d mm H mm J mm L mm K mm A mm D mm B mm S mm P mm

HJ0103-204 20 113 90 60 11 25.5 12 33.3 12.7 15

HJ0103-205 25 130 99 68 13 27 16 35.7 14.3 16

HJ0103-206 30 148 117 80 13 31 16 40.2 15.9 18

HJ0103-207 35 161 130 90 15 34 16 44.1 17.5 19

HJ0103-208 40 175 144 100 15 36 16 51.2 19 21

Material: Austenitic Stainless Steel 、
Cast Iron、Zinc Aluminum Alloy

25



H97 Stainless Steel 304  Adjustable Feet 

M D e1  e2 E B t

8
38

5.5 6.5
11

13
1.6

10 7 8 17

12 60 8 10 18 19

2.016
75

10 13
20

24

20 13 16 30

Part Number
L

H97

M-A

8-50 68.1

8-100 118.1

10-75 94.6

10-100 119.6

12-50 78

12-75 103

12-100 128

12-125 153

26



 Articulated Adjustable Feet ( Base in Nylon with 
Rubber Pad)

H172 Articulated Adjustable Feet 

H133 Articulated Adjustable Feet 

H98 Articulated Adjustable Feet 

27



 Articulated Adjustable Feet ( Base in Nylon with 
Rubber Pad)

H323 Articulated Adjustable Feet 

28



Fixed  Adjustable Feet ( Base in Nylon with Rubber 
Pad)

H173 Fixed Adjustable Feet 

H134 Fixed Adjustable Feet 

H99 Fixed Adjustable Feet 

29

Type Order Number Dia.of Screw 
M(mm)

Length of Screw 
L(mm)

Material of 
Screw Load-bearing

Φ60

H99-M8*50
M8

50

Carbon Steel 
Nickel 
Plated ;Stainl
ess Steel 
201/304

1000KG

H99-M8*80 80
H99-M10*50

M10
50

H99-M10*80 80
H99-M10*100 100
H99-M12*50

M12

50

H99-M12*80 80

H99-M12*100 100

H99-M12*150 150

H99-M16*100
M16

100

H99-M16*150 150

Type Order Number Dia.of Screw 
M(mm)

Length of Screw 
L(mm)

Material of 
Screw

Load-
bearing

Φ80

H173-M12*50

M12

50

Carbon Steel 
Nickel 
Plated ;Stainl
ess Steel 
201/304

1000KG

H173-M12*80 80

H173-M12*100 100

H173-M12*150 150

H173-M16*100
M16

100

H173-M16*150 150

Type Order Number Dia.of Screw 
M(mm)

Length of Screw 
L(mm)

Material of 
Screw Load-bearing

Φ100

H134-M16*100
M16

100

Carbon Steel 
Nickel 
Plated ;Stainl
ess Steel 
201/304

1500KG

H134-M16*150 150
H34-M16*200 200

H134-M20*100

M20

100
H134-M20*150 150

H134-M20*200 200

H134-M24*100

M24

100

H134-M24*150 150

H134-M24*200 200

H134-M24*250 250



H212 T bolt clamp with tightening knob

HU212 V bolt clamp with tightening knob

HT01422 Half of the Gasket

30



H3633 Hinge

H3634 Hinge

H3635 Hinge

31

H121 Enclosure Handles,Components 



H122 Enclosure Handles,Components 

32



H59 Lock

H338 Mounting Plate 

H336 Modular Nose - Over Bar 

H L180 Drip Tray Support 

33

Order Number
Length
(Lmm)

Material      

H L 180 180 SUS304



H L250 Drip Tray Support 

Order Number
Length
(Lmm)

Material      

H L 250 250 SUS304

H L280 Drip Tray Support 

Order Number
Length
(Lmm)

Material      

H L 280 280 SUS304

Order Number
Length
(Lmm)

Material      

H L 180-13 280 SUS304

H L180-13 Drip Tray Support 

34



H L 250 -13  Drip Tray Support 

Order Number
Length
(Lmm)

Material      

H L250-13 250 SUS304

H L280-13 Drip Tray Support 

Order Number
Length
(Lmm)

Material      

H L 280-13 280 SUS304

H L180-27 Drip Tray Support 

Order Number
Length
(Lmm)

Material      

H L 180-27 280 SUS304

35



H L 250 -27 Drip Tray Support 

Order Number
Length
(Lmm)

Material      

H L250-27 250 SUS304

H L280-27 Drip Tray Support 

Order Number
Length
(Lmm)

Material      

H L 280-13 280 SUS304

36

Flexible Conveor Chain Dedicated Removal and iIstallation 
Tools



H J1015-A Stainless Steel Support

H  L70x70   Stainless Steel Side Bracket 

Order Number
Length
(Lmm)

Material      

H L 70*70*3 70*70 SUS304

37



HJ0200 Stainless Steel Side Bracke

HJ0221   Stainless Steel Side Bracket 

38

HJ0222   Stainless Steel Side Bracket 



HJ0203 Stainless Steel Side Bracke

HJ0806   Stainless Steel Side Bracket 

39

HJ0807   Stainless Steel Side Bracket 



HJ08 Stainless Steel Side Bracke

HJ0806   Metal Clamp

40

HJ0688   Metal Clamp



Stainless Steel System Support Component

Stainless Steel  Foot

41

Stainless Steel Bracket

The transmission device support component is 
composed of a stainless steel tube, a connecting 
plate connecting the beam body and a beam 
support frame.
Two-point or three-point reinforced nylon brackets 
with connectors can be provided for the 
transmission device support of all system widths. 
The bracket device has threaded bushes and non-
slip joint feet with adjustable height. In addition to 
increasing friction, it can also reduce vibration.
First select the appropriate joint foot length to 
achieve height adjustment of 30-100.



 Metal Side Bracke

H105/85-80   

42

H65-64    

H65-64  



 Metal Side Bracke

H105-80  

43

H142-80  

H85-804 



 Right Angle Bracke

H60-60   

44

H80-80

H40-40  


